) )
Use of Calculator Questions 4x10 )+ (3 2 x[D
Q1. ~

(l. b x167°)

4x10° +3.2x10’

Work out 1.6 X107
_ _ 'S
Give your answer in standard form. — 2 S‘ Z X | 0
(Total for Question is 2 marks)
Q2.
(2.6 x107) — (5 x 10%)
Work out 2.8x10° = 75000000600

Give your answer in standard form.

Q
= - %10

(Total for question = 2 marks)



Qs.

(a) (i) Use your calculator to work out

Write down all the figures on your calculator display.

(i) Give your answer to (i) correct to 3 significant figures.

(b) Work out (2.34 x 10°%) x (5 x 10%)

Give your answer in standard form.

Q4.

V100 - 4.5°
(a) Calculate the value of 0.73

Give your answer correct to 3 decimal places.

12 x10°
(b) Calculate the value of 3 x10°

Give your answer in standard form.

POSS:L‘-Q_ MO'\-—&,‘(_';‘&EGI' ng,sé-).on

-2
= 1.2 410
3
-2
= 0.4 x 10
3

= 4 %10

J(a6.2-1.9)
<2_. 39 x 0.7)

i

R.2021774543

(Total for Question is 5 marks)

Jloo-4.5%)

=4.0804S
O-1

(Total for question = 4 marks)



Q5. = /4—0.‘16

— (7.! —2.4%)

Use your calculator to work out 7.1 -2.48

Write down all the figures on your calculator display.
You must give your answer as a decimal. = |.3g528138 S

(Total for Question is 2 marks)

Q6.

Use a calculator to work out

V204

Jzo.4
6.2 x 048

Write down all the figures on your calculator display. (é 2 x0.4 g)
Give your answer as a decimal. :

"

= |.S176L%¢8

(Total for Question is 2 marks)



R
x=0.7 - ( 0.1 + l)
(x+1)?
Work out the value of 2« 2%0.7
Write down all the figures on your calculator display. 2

= 2.064285714

(Total for Question is 2 marks)

Q8.

1

Yautr1 (Eanto' +1)

Q
Write down all the figures on your calculator display. ( é‘&"‘ 60 ~I )
You must give your answer as a decimal.

Calculate the value of

1

| 9431851653

(Total for Question is 2 marks)



(4.5 +4)

4A5+\/16 3- l

(a) Work out the value of 3.1

1

Q9.

Give your answer correct to 2 decimal places. — 2 A7)
(b) Work out the value of
1
25x107 - 400
(Total for question = 3 marks)
Q10.
38.5 x14.2 = C 38.5 X 14.2)

(a) Use your calculator to work out 184 5.9
Write down all the figures on your calculator display. C (€.4 —€S. °!>

You must give your answer as a decimal.

= 473.71%6

(Total for Question is 3 marks)



Q11.

V7056

(a) Use your calculator to work out 0.35 x12.8

Write down all the figures on your calculator display.

You must give your answer as a decimal.

(b) Write your answer to part (a) correct to 1 significant figure.

Q12.

v70.25

Use your calculator to work out 4.2 -2.37

(a) Write down all the figures on your calculator display.
You must give your answer as a decimal.

(b) Write your answer to part (a) correct to 4 decimal places.

Jd7056
(0.35'7( 12. 8)

3

(Total for Question is 3 marks)

= /70.25'

(4.2 —2.37)

= A4.580065671

(Total for question = 3 marks)



